S LTI I &1 AL | T/ B ik 5e B Fode| PR | B X b En
110 1 |2 & |3k 4| 2 o FEH109A | 123040 (48 & 444 3% 2 2 M [FRRT SR G
110 1 | H | 3% 5| 2 o H 1094 | 123041 |2 p Pk E > 2 2 MEL (R FEMEEGEY 57
-
110 1 |2 | 3% 5| 2 o HEX109A | 123042 |52 BI(- ) 2 2 i E P‘; https://meet. google. com/ubw-ai jt-oam
Al i cs
110 1 |2 FH | 3% 4| 2 B EXI09A | 123043 [ p B FH 41 2 2 P ¢ |https://meet. google. com/sff-itzm-ngv
110 1 |2 & |3k 5| 2 o ERI109A | 123044 | 2R E(- ) 2 2 # %F 4= [https://meet. google. com/ubw-ai jt-oam
110 1 |2 | 2% 5| 2 o B EH109A | 123045 “”?f&}@“”" 2IE(-) 3 3 T [ERTFEEEEY
110 1 |- | 5% 4| 2 o HE109A | 123046 s %P (=) 3 3 # %43 |https://meet. ,qoo,qle com/ubw-ai jt-oam
110 1 |2 & | 34| 2 o B EE109A | 123047 EF\Lf%;z< 2 2 PR | FRT IR e
110 1 e B[ 2% | 2 e FHEX109A | 123016 |44t f§§ (-) 2 2 ::I : https://meet. google. com/amg-csko-flc
[
110 1 | 2wk | 33k 45| 2 e B FH109A | 123017 |4F & 4% 2 2 2 A [T R g
110 1 |2 | 2% 45| 2 e FFHI09A | 123018 [ p w254 (- ) 2 2 MRS E |FRE IR G0
110 1 | 2wk | 3k 5| 2 Ew P FRI109A [ 123019 [T "y etk (- ) 3 3 Mich [FRTFEEEEY 57
110 1 e B[ 2% 8| 2 e HEX109A | 123020 |z pkt(= 3 3 Fiz % |https://meet. google. com/amg-csko-flc
110 1 | 2P | 2% 4| 3 | 2w HF%108A | 123021 |k & 7 7% 2 2 + 4 |https://meet. google. com/sff-itzm-ngv
Eg W%
110 | 1 we [z 6] 3 e B FH108A | 123022 |z p 22 R 2 2 ’H‘: j; https://meet. google. com/ghm-kceb-ozy
110 1 |2 | 2% 4| 3 Ew HFH108A | 123023 | K3 2 2 P ' |https://meet. google. com/sff-itzm-ngv
110 1 | 2wk | 2% 5| 3 e HF X108 | 123024 |22 A trid v 2 2 oo g |Line¥ eificiz g T
110 1 | 2w | & 5[ 3 Ew P FR108A | 123025 |3DT "ot vs & B2 (- ) 3 3 2 AH |ERTIEEESY
110 | 1 e | 2% 5| 3 e HE X 108A | 123026 |2 pokt(T) 3 3 + -3 |https://meet. google. com/ghm-kceb-ozy
110 | 1 e H | 2% i 4 Ew e RI107A | 123027 |2 A3 1 24 12(- ) 2 2 # & 42 |https://meet. google. com/ubw-ai jt-oam
110 1 e B [ z% i 4 Ew FFRI07TA | 123028 |3DT "ot vs & 2 (=) 4 4 #g P = |https://meet. google. com/qgv-htrq-dsj
o B
110 1 ECA - ol - - S | it FER107A | 123029 (B w7 B3kt 2 2 *fﬂf E https://meet. google. com/ozc-tuwt-vza
110 1 A - ol -V 4 e FHEE107A | 123030 | 7B % 3 2 2 #f P iz |https://meet. google. com/qgv-htrq-dsj
110 1 |2 B | 2% 4| 4 e FFHI07A | 123031 [z p =B 1 29 72(-) 3 3 #ow i |Line¥ etficin g T
¥ pA
110 | 1 e | 2X x| 4 e HEH107A | 123032 |z &t (-) 3 3 g https://meet. google. com/ozc—tuwt-yza

R



https://meet.google.com/ubw-aijt-oam
https://meet.google.com/sff-itzm-ngv
https://meet.google.com/ubw-aijt-oam
https://meet.google.com/ubw-aijt-oam
https://meet.google.com/amg-csko-flc
https://meet.google.com/amg-csko-flc
https://meet.google.com/sff-itzm-ngv
https://meet.google.com/ghm-kceb-ozy
https://meet.google.com/sff-itzm-ngv
https://meet.google.com/ubw-aijt-oam
https://meet.google.com/qgv-htrq-dsj
https://meet.google.com/ozc-tuwt-yza
https://meet.google.com/qgv-htrq-dsj
https://meet.google.com/ozc-tuwt-yza

i S ERAT

pagnl B | k| E& FL R St 5L 0 ok Pl | Bk iE b
110 | 1 | 2w # 2 e H109% 122364 | 23 3kA2-£I & g B2 3 B 2 2 74443  |meet. google. con/kxn-bvvh-vhi
110 1 | e & 2 e H109% 122365 | #v3Ae- 5 B 824 2 2 2 x4 |https://meet. google. com/dgk-bwyy-zpg
110 1 B H 2 Ew FH109% 122366 |3 2k A {4 W] 22 L gl 2 2 ¥ §7 F |https://moodle. hdut. edu. tw/course/view. php?id=10277
110 | 1 B H 2 e H109% 122367 |3 sk Az -J % @ RS 5L % 92 2 $£ 2 2% [https://moodle. hdut. edu. tw/nod/bigbluebuttonbn/view. php?id=119483
110 1 | &e & 2 g H109% 122368 |3 #h Az 4 HIT 42 4 & 2 2 % B B4 | https://meet. google. com/yxu-xahb-aaq
110 | 1 e H 2 Ew H109% 122369 | @At -p R T E LT B 2 2 B & |https://moodle. hdut. edu. tw/course/view. php?id=10280
110 [ 1 | e 3 3 B H108% 122370 |3 @vfe-% # v Bt 2 i 47 2 2 k5. F |https://meet. google. com/tfu-tiog-pim
110 1 | &e & 3 i H108% 122371 [ Az E & 2 % 2 2 k¥ |https://meet. google. com/ibs-auou-vuv
110 1 | ize & 3 g H108% 122372 |3 B ARF & Fik & 4 5 2 2 iT #X |https://meet. google. com/xbw-pgk j-yco
110 1 | i&2e # 3 e H108% 122373 | shife-2 kB 9B e 4 Al 2 2 % 248 |https://meet. google. com/nvd-nifm-ngx
110 | 1 | 2w H 3 itw H108% 122374 [ 233kA2-£) & P B2 9 B 2 2 754438 |meet. google. con/mbx-oada-mic
110 | 1 | &2 # 3 B H108% 122375 | shdkfe-SE A e 4 5 2 2 A% 4 |https://meet. google. com/wdm-mwrb-msm
110 1 | 2w & 3 iww H108% 122376 [ Bvgds-fLpat € 24 75 2 2 # 4£ & |https://meet. google. con/vdp-reak-gme
110 | 1 | 2w 3 itw H108% 122463 [ #hikAz—4 4 IV B & in gt 2 2 # <% |https://meet. google. com/hkz-jocb-drs
110 | 1 [&w g | £F | 2 | i&w & F109A | 122645 | Ae- 2B B84 gAY 2 2 % 248 |https://meet. google. con/nvd-nifm-ngx
110 | 1 | w3 | Bd 5| 2 o FBE109A | 123092 |3 3Rz —F & A 2 giFe 4 Bk 2 2 v # 8  |https://meet. google. com/ibi-dwym-smt
110 | 1 | i&w 3 [ BdE k| 4 | &2 FFHEI0TA | 123085 | iz (= )(FH Fix 4 %5) 2 2 i # X |https://meet. google. com/xbw-pgk j-yco
110 [ 1 |2z FH | B x| 2 o PR A109A | 123146 |3 @iz HAt ¢ & 2 F 2 2 # £ & |https://meet. google. com/vdp-reak-gme
110 | 1 | iew g [ B i| 2 | 2w B <1094 | 123145 [3 @3- % WA & 47 2 2 32 % |https://meet. google. con/hvd-jdbb-oiw
110 1 [ew g | &g | 1 | 2w & F110A | 122600 |F * @ = 2 2 #810¥  |https://moodle. hdut. edu. tw/course/view. php?id=10315
110 | 1 A ol e -G | e HFH110A | 123015 |9 * ¢ = 2 2 5 4 |https://meet. google. com/hmd-pwan-ynd
10| 1 | 2w s | F2 5] 1 e HF 1104 | 122948 |7 * ¢ = 2 2 7 46 |https://meet. google. com/ieq-xrpz—fcy
110 | 1 | w3 | R 4| 1 e FREF110A | 122742 |9 * &~ 2 2 % 3% |https://meet. google. com/sth-axxb-knn
110 1 [&e g | €8 4| 1 Ew P g B110A | 122992 |7 * & = 2 2 % B # |meet. google. com/pje-gept-jt]
110 | 1 | i&w 3 | BgE x| 1 o FEHETI0A | 123063 | * &2 2 2 %% 42 |https://meet. google. com/sug-phik-kww
110 | 1 | 2w 3 | B 4| 1 e HAR 1104 | 123102 |9 * &= 2 2 ¥ £ |meet. google. com/mno-tisp-djn
110 1 | [ gF 5| 2 e g g 1097 | 122607 |¢ » B 4 i 2 2 ¥ 7 " |https://meet. google. com/dpd-ista-xye
110 [ 1 | 2w 3 | 85| 2 Erw FR109A | 122687 | < B e 4 2 2 H 7 1t |https://meet. google. com/rcs-fwib-xuo
110 1 [ &= [ &k | 1 | &= HA510A | 123135 |7 » Bie 4 2 2 #f 7 "' |https://meet. google. com/irq-qygz-xqgh
110 1 |- H | BRE 4| 1 o BRELI0A | 122769 |¢ ~ B & 4 & 2 2 H 7 1t |https://meet. google. com/zgw-mhod-tot
110 [ 1 | sgw P |24 | 2 (2w H7 & 21094 123168 | ~ B &2 & iE 2 2 #g 7 "' |https://meet. google. com/nwo-h jks-gdd
110 | 1 He 3 ol IR S * 8 A& % 110A Ar P2 [ 3. %8 | meet. google. com/drp-hrdd-ups



http://meet.google.com/kxn-bvvh-vhi
https://meet.google.com/dgk-bwyy-zpg
https://moodle.hdut.edu.tw/course/view.php?id=10277
https://moodle.hdut.edu.tw/mod/bigbluebuttonbn/view.php?id=119483
https://moodle.hdut.edu.tw/course/view.php?id=10280
https://meet.google.com/ibs-auou-vuv
https://meet.google.com/vdp-reak-gme
https://meet.google.com/ibi-dwym-smt
https://meet.google.com/vdp-reak-gme
https://meet.google.com/hvd-jdbb-oiw
https://moodle.hdut.edu.tw/course/view.php?id=10315
https://meet.google.com/hmd-pwan-ynd
https://meet.google.com/ieq-xrpz-fcy
http://meet.google.com/pje-gcpt-jtj
https://meet.google.com/dpd-ista-xye
https://meet.google.com/rcs-fwib-xuo
https://meet.google.com/irq-qygz-xqh
https://meet.google.com/zgw-mhod-tot
https://meet.google.com/nwo-hjks-gdd
http://meet.google.com/drp-hrdd-ups

